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Aufgabe 1: a) Wir können die Varianz einer Zufallsvariablen Z mit der Formel

V[Z] = E[Z2] − E[Z]2

berechnen. Wir haben

E
[
{λ̂ML(x1, ..., xn)}2

]
= n2 × E

[
1(∑n

i=1 xi

)2]2
= n2

∫ ∞

0

∫ ∞

0

· · ·
∫ ∞

0

1(∑n
i=1 xi

)2 λn e−λ
∑n

i=1 xi dnx

Blatt6,1f
= n2

∫ ∞

0

1

y2
λn e−λy yn−1

(n− 1)!
dy

=
n2

(n− 1)!

∫ ∞

0

yn−3 λn e−λy dy

=
n2λ2

(n− 1)!

∫ ∞

0

xn−3 e−x dx

Blatt6,1g
=

n2λ2

(n− 1)!
× (n− 3)! =

n2λ2

(n− 1)(n− 2)
× λ2

und erhalten damit

V
[
{λ̂2

ML

]
=

n2

(n− 1)(n− 2)
λ2 − n2

(n− 1)2
λ2

=
n2

n− 1

{ 1

n− 2
− 1

n− 1

}
× λ2

=
n2

(n− 1)2(n− 2)
λ2

b) Es ist
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